Klarke Math 8th Grade
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3_1 Puzzle Preview

In each of these problems, a dot { ® ) equals 1.
(2) This mobile only balances when the buckets represent
@ This mobile always balances. Why? a certain number. What number makes it balance?
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(3@ This mobile never balances no matter what number (@ Does this mobile balance always, sometimes, or never?
the bucket represents. Why?

i ; T If sometimes, when?
Every beam in the mobiles below is balanced. The strings and the beams weigh nothing. Find the weight of each shape.
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If‘i:: = i_ , then what number(s) -::anthei represent?

If i=2. wouldﬂmstatmm“iﬂ'-i'i."bnm? Why or why not?
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